
Moreng Telecom Products

973-237-2001

www.morengtel.com

1-30

CONNECTION OF TOP OF 7' x 23" BAY

TO 2" CHANNEL FRAMING (1" OFFSET)

ITEM DESCRIPTION SFH-123

1 CHANNEL PLATED 1

2 2" x 5/8" CHANNEL CLIP 4

3 5/8" STRUT CLIP 2

4 5/8-11 STRUT NUT 2

5 5/8-11 x 3" HEX BOLT, ZY 2

6 5/8-11 x 2" HEX BOLT, ZY 2

7 5/8 STEEL FLAT WASHER, ZY 2

1

2

3

6

4

5 & 7

CHANNEL FRAMING (REF)

FRAME (REF)

CONNECTION OF CABLE BRACKET TO

2" CHANNEL FRAMING (2" UNDER)

ITEM DESCRIPTION SFH-644K

1 CABLE BRACKET 1

2
1/4-20 x 1 HEX BOLT, ZY

1

2.5"

1

2

(05/02/22)

4"


